Rapport Registrering Laserskanning Hest

ﬂ Registration Diagnostics

Seatus: VALID Registration
Neosn dbsolute Error
for Enabled Constraints = 0 003 m

for Disabled Constraints = 0.000 m
Date! 2021.05.08 17:47:52

Databas= name - Flsam_prosjskt_2

ScanVorlds
Station-001 SE-001 (Levelsd)
Station=002: SU=002 (Leveled)

Constraints
Constraint ID ScanWorld ScanWorld Teps
B Station—-001: SU-001 [Lewe=led} Station-002; SE-00Z2 (L=weled) Coincident: Vertex - Vertex
a Ststion-001- 50-001 {Levelsd) Statien—002@ SW-002 (Leveled) Coincident Vertes — Vertes On
Cloud-Hesh 1 Station=001- SP=001 (leweled) Station-002: SV-002 (Leveled) Cloud Cloud<Hesh - Cloud-Mesh COn
Cloud-Mesh 1 [Station-001: S§-001 (I=weled) Station-002 SW-002 (ILewvelsd)]
Objsctive Function Valus 0. 000284187 sq m
Itarations: 39
Overiap Point Count: 185663
Overlap Error Statistics
RHS. 0. 0E8279 m
AVG, D DELEASE m
MIN: 2 32851e—07
HAL: D D49E797 m
Overlap Cepter: (-4.810, 6 281, 3.001) =
Errar after global registration. 2 51619&-05 =q =
Translation: (=27 007. 16 171. &.545) n
Fotation: (=0-0001. -0.0001. 1.0000):B1.167 deg

Statuzs Ueight
O 1. 0000
1.0000
1, 0000

ScanVorld Transforsations

Station-001

Seation-001

|Station=-002

SW-001 (Leveled)

Tnussd ControlSpace Dbjects

S§-001 (Leveled)

Vertex = unlal

Vertex TargetID Eration-001
Vertax Targ=tID -

Vartax - TargetID @ til

Vertex TargetID ted

Vartex Targ=tID tr3

S¥=002 (Leveled)

= Verkax unlabeled

|- Vertax & TargstID ' ttl
| Vertex - TargetID tEd

I Vertex - Targs=tID L3

transiation: {0,000, 0.000. D000} =
rotation. (0 0000, 1 0000, O 0000} 0 000 deg
Station-002: SU-002 (Leweled)

translaktion: (=27 012 16.167 5 544) =
rotaticn: (0 0000, O.0000. 1.0000}%:81,16% deg

Error Error Vector
0001 = (0. 001
0.003 w 0.001

0006 w aligned [0 018 =]

Borz Vart
0.001, 0.000) » D.00% m» D 000 m
0.001, 0.002) = D.001 m D.0D2 m
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